HOE Ol & AL 2 Al A
A= sYI|I=dH SA o s34
HE: S0IAS o AT SR
Eel: sge =X 54 (ECRSED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
sgJl=dH 67,288,759 76,455,385 29,166,626
= 2,138,744
= 1,870,593
) 13,651,177
== 10,338,786
Al 39,289,459
sE 40,823,264 42,719,615 21,896,351
= 259,430
= 1,870,593
) 13,039,330
== 4,818,158
Al 20,835,753
sgeAS & Hold g 6,586,072 6,864,983 £278,911
= 195,000
= 3,412,021
Al 2,979,051
sgel =X sd 6,586,072 6,864,983 £278,911
= 195,000
== 3,412,021
Al 2,979,051
AN =22l 35,000 86,000 251,000
401 AlZHI L2 0Hb] 30,000 80,000 50,000
01 Al&H| 30,000 80,000 250,000
OHANEE R4
20,000,000 *14] 20,000
O3EAdE 10,000,000 * 14 10,000
405 THaHE S 5,000 6,000 A1,000
01 A= FSHI 5,000 6,000 21,000
O8It & 2Xt e 5,000,000& 14 5,000
sHsE A =8 13,200 16,520 43,320
202 04t 6,000 7,520 21,520
01 SLHoIH 6,000 7,520 21,520
OsZAHERFA0
20,0002 x5 *603] 6,000
203 BR=LAHI 7,200 9,000 21,800
03 A=A RF=EH| 7,200 9,000 A1,800
OSEAUZTADZFI|(AR)
4,800,000 « 14 4,800
OSZAMZTARZ=TH|(1E)
2,400,000 14| 2,400
sY20F A =€ 6,300 6,300
201 Zet=gH| 6,300 6,300
01 A2l 6,300 6,300




A= sYIlsdH FA sEL
B S00IAS U 4O|H g
£l sgel 5X 58 (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Osgls= 2 AEM 403
70,0003 122 +53] 4,200
O=H=sgel et 848 &2/3
70,0002 x62H+53] 2,100
Husge I8 X2 280,000 249,800 30,200
= 195,000
S 24,750
Al 60,250
201 2gt2d| 5,000 6,000 21,000
= 2,500
Al 2,500
01 At22t2/H] 5,000 6,000 21,000
OFdsgel IsdxXE 23|
5,000,000& 14| 5,000
= 2,500
Al 2,500
307 glztol ™ 275,000 243,800 31,200
= 192,500
== 24,750
Al 57,750
02 R E A E X 275,000 243,800 31,200
OXE=0l d=Ex e
275,000, 0002 *100% 275,000
= 192,500
== 24,750
Al 57,750
JESENMXE sel=g X2 5,305,196 5,566,642 A261,446
= 3,141,180
Al 2,164,016
101 ©124H| 64,89% 63,142 1,754
M IRtMZZSEs 64,8% 63,142 1,754
OIPS=R L CRCPSONITIESTH
88,8002 x30 x210H & 55,944
Osgelsg dREX2 2 S (ALl =1
55,944, 0002 * 16% 8,952
201 ZBt=EH| 5,000 5,000
01 At=2t2[Hl 5,000 5,000
Osgelsg S22 MA(AIHl FIt)
3,000,000 %14 3,000
Osgel=g AFEM R (AIEI =1)
2,000,000& *14] 2,000
301 Let2H=S 5,235,300 5,498,500 A263,200
== 3,141,180
Al 2,094,120
02 A2 EH 263 (FHAAHS, NLHE) 5,235,300 0 5,235,300




l=dH
goIAS & HolE gy
el =X 58

SA - BH - EI(E) - MRAE - BAS Ol &t = HIDE
Osgels=d X 700,000&*7,479E 5,235,300
= 3,141,180
Al 2,094,120
d=sg0 ielsHeg 2ZIHdAE 42,000 40,000 2,000
307 2I2+0|& 42,000 40,000 2,000
05 2IZIAES 42,000 40,000 2,000
O0d=sgel HelsXY B3MHE XIFAE
60,0002 *1,0000H A7 0% 42,000
sgel ussd X 10,000 18,400 8,400
202 04t 3,000 3,900 A900
01 SLHOIH 3,000 3,900 2900
Osglolgs g2z o)
20,0002 x32+503] 3,000
301 LRtE2NES 7,000 14,500 27,500
11 BAHIXIES 7,000 14,500 A7,500
Osol DS FAX 0|24t
50,0002 *100 5,000
OM=2lal MEHS| HIHAH Ald| 24t
2,000,000 14| 2,000
ei=e22 A 22 i 33,400 0 33,400
= 10,000
Al 23,400
307 glzto| & 20,700 0 20,700
S 6,210
Al 14,490
02 QI P A E X 20,700 0 20,700
O2=0l 22X A . & E TN EE 0+
345, 0002 x 1002 *60f% 20,700
= 6,210
Al 14,490
402 RI2t X201 12,700 0 12,700
= 3,790
Al 8,910
02 QIITH=AI B (OIFTH ) 12,700 0 12,700
OoI=el 22X EHEENA
9,071,000 294 2+70% 12,700
S 3,790
Al 8,910
QFQUAHEIZ2EZ Y 2L 24,571 28,621 £4,050
101 IAHI 9.21M 9,021 250
M JItHZZ2TSE s 9,21 9,021 250
OAZQHE22L HREXR B
83,8003 x 190 7,992




seJl=dH A s3
sgelas & 4oE e
=gl =Xl 58

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
O=QHEZZA HRPEXE B8R
,992,0002 % 16% 1,279
201 LBHEEHI 5,800 7,800 22,000
01 AtR2t2/H] 5,800 7,800 A2,000
O2I=ONERRN T2 2|
3,000,000& *14] 3,000
OU=QHEZ2 2 +=5 HA X
700,000 *42] 2,800
202 04t 1,500 1,800 2300
01 SLHoIH 1,500 1,800 2300
OAU=QUAHEZ2 2L Z28 AREE 0]
20,0003 x3&*253] 1,500
206 M=Hl 8,000 10,000 22,000
01 TH=HI 8,000 10,000 A2,000
OA=QABIZT 220N T2
80,0003 »1007H 2 8,000
sSE0IF04 gtg MEgz=z0d X2 4,800 6,000 41,200
307 glztol & 4,800 6,000 41,200
02 Rt E A E X 4,800 6,000 21,200
OsZ01=04d 3t Mgz &
4,800,000& *12/%100% 4,800
Hesgo =AM AZA 563,600 537,000 16,600
S 166,080
Al 387,520
402 RIZEAHZ0IH 553,600 537,000 16,600
S 166,080
Al 387,520
03 2IZHAEAIZH] 563,600 537,000 16,600
Ofd=sgel SXHex X
200,000& *2, 768 553,600
< 166,080
Al 387,520
Hesge =5ZZ NEAY 185,520 202,400 246,880
S 46,656
Al 108,864
402 RIZEAHZ01H 185,520 202,400 246,880
= 46,656
Al 108,864
02 QIZEXHZ AL 2 (01X THE) 185,520 202,400 246,880
Odd=sge =532 N3AMI
900, 000 *2162 *80% 185,520
= 46,656
Al 108,864
Fdsgo UERT g5 N 4,000 0 4,000




sZII=dH FA sEL
TP N
=olol 21| =& 2 &)
4224 - BY - G9I(E) - MIRAR - BES Ofl = 2
201 Eet=2E | 1,000 1,000
01 At=2t2[Hl 1,000 1,000
OZuEseel YERT #E N
1,000,000 %14 1,000
301 LetE N = 3,000 3,000
11 BAREIX 3,000 3,000
OHEslel YEST BE X8
3,000,000& *14] 3,000
SEUSASHAE! AIEAIS 40,635 40,635
307 glztol & 40,635 40,635
02 B A E X 40,635 40,635
OsZEUSSIHUE AlHAIY
189,000,000& *21.5% 40,635
dsgel 3= olxt2A 60,000 60,000
S 18,000
Al 42,000
307 I2t01 60,000 60,000
= 18,000
Al 42,000
08 OIXtE&E =2 60,000 60,000
OFd=sgel dHTt=s OIXt2d K&
60,000,000 * 14 60,000
& 18,000
Al 42,000
=gl ogs & 17,850 17,850
S 5,3%
Al 12,495
301 LetE N = 17,850 17,850
=S 5,3%
Al 12,495
14 JIEB243 17,850 17,850
Ooldsgel 83 X
170,000 * 1502 *70% 17,850
== 5,3%
Al 12,495
gxle s& =d 3,928,589 3,064,423 874,166
= 3,000
= 1,870,593
= 91,907
Al 1,963,089
SEEE3 =4 3,815,589 2,904,423 911,166
= 1,870,593
= 54,407
Al 1,890,589




2
2 1

gtz =7 chel xi )
CRA BB GRS - NIRAE - BES = HIDE
Zg 2SN 6,400 9,000 A2,600
201 Let=EH| 1,000 3,000 22,000
01 AlR2telgl 1,000 3,000 22,000
OsENL 20 SEXA 2|
1,000,000 %14 1,000
202 O4H| 5,400 6,000 2600
01 SLHo4L 5,400 6,000 A600
OsENLYR F2 0|
20,0003 x38+903 5,400
sZ2d gdsl 34,000 49,500 A15,500
201 Let=EH| 2,000 4,000 A2,000
01 AlR2t2l8l 2,000 4,000 22,000
OsENs2Z 28 223y
2,000,000 *14] 2,000
301 LEtE N = 32,000 45,500 213,500
11 BARHIXI S 2,000 15,500 213,500
OsENs2Z 2@ 2ol oyl 24
2,000,000& *14] 2,000
14 IIE2 e = 30,000 30,000 0
OsFelg IS X
30,000,000 *14] 30,000
ENE=L0tE M2E 38l X 242,428 294,624 252,196
= 24,732
Al 217,696
301 LEtE N = 242,428 294,624 252,196
S 24,732
Al 217,6%6
4IIEEd= 242,428 294,624 A52,19%
OSEMEZ20IE MRY &3t NI
98,928,000& * 14 98,928
== 24,732
Al 74,196
OsZENEFL0S ARE &sH| X (Al
I =Jt) 143,500,000 14 143,500
sENE a2t 36,000 89,000 253,000
201 2gt2d| 3,000 18,000 £15,000
01 AtR2t2/H] 3,000 18,000 A15,000
OsZEHs 22 0PIE 23l
3,000,000 *14! 3,000
206 M=Hl 2,000 5,000 3,000
01 =8l 2,000 5,000 £3,000
OsZEME us MW= 2,000,000 14| 2,000
301 LetEES 24,000 36,000 212,000
14 IE243 24,000 36,000 A12,000




CEpERI SR b
22 UXls 52 X4
= ELESS

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OsZEMg2a Msstsd N
2,000,000 * 1674 2A*50% 16,000
OA2IFSAIE XImrsd MBIA AIEXIE
40,0003 »2502 *80% 8,000
307 2I2t0|H 7,000 30,000 A23,000
02 QI B A E X 7,000 30,000 £23,000
OZAlglnt ENloks ZXE0] HEXE
14,000, 0002 *50% 7,000
Hesdlis 243 102,000 152,000 £50,000
301 LetENES 2,000 2,000 0
14 IeE2d3 2,000 2,000 0
09+ =EHEEAUIS AMES
2,000,000 *14] 2,000
307 2I2t01H 50,000 50,000
02 QItF A E X 50,000 50,000
O=sENgs20te Z208 2435} X2
50,000,000 *17H 2=*100f% 50,000
401 AlEHIZ RO 50,000 100,000 £A50,000
01 Al&€HI 50,000 100,000 250,000
OXISIHEAS AE=E HE+
50,000,000 » 14 50,000
sENEF20s 280t N 9,601 9,419 182
= 3,918
Al 5,683
301 2N 9.601 9.419 182
= 3,918
Al 5,683
14 IE2 = 9,601 9,419 182
OsZEMEF20ts 280t N2
7,836,000 *80% 6,269
z 3,918
Al 2,351
OsEMEF20te 28t XA (ALl &
ot 4,164,000 *80% 3,332
ANzZHe 25t 117,000 0 117,000
= 82,000
Al 35,000
307 glztol & 117,000 0 117,000
[ 82,000
Al 35,000
02 2IZHBSAIHE X 117,000 0 117,000
OAlzsgdat 117,000,000& *100% 117,000
= 82,000
Al 35,000




A= sYII=dH SA o s34
Hm: g dilc 5& X4
Rl sEEEE =2 (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
SENSFA0S AgHsu= 2,160 2,880 AT720
= 675
= 675
Al 810
301 LetE2NHS 2,160 2,880 AT720
[ 675
S 675
Al 810
4IIE2d= 2,160 2,880 AT720
OggZstu= X3 300, 0002 *0H *8(fk 2,160
= 675
S 675
Al 810
SENE0S AIEEE A 21,000 48,000 227,000
= 6,000
Al 15,000
402 RIZERHE01H 21,000 48,000 227,000
= 6,000
Al 15,000
02 QIZIXHEAIH 2 X (01X THE) 21,000 48,000 227,000
OsZEME0tE AlEed e
30,000,000 *17H 2=%70f% 21,000
S 6,000
Al 15,000
OIS SFSD (N EALY) 500,000 500,000
401 Al HIZ S THYI 500,000 500,000
01 Al&H| 500,000 500,000
OB sSAHEINL ALY OIS EHSIIAI
500,000,000 * 14 500,000
LS MO ENL O ZHEHE L Y) 2,107,000 1,570,000 537,000
= 1,475,000
Al 632,000
401 AlEHIZ RO 1,480,000 785,000 695,000
= 1,036,000
Al 444,000
01 Al&H| 1,480,000 785,000 695,000
OJ I =dEHE XY
1,480,000,000& *14] 1,480,000
= 1,036,000
Al 444,000
403 TtXI M SAHE01H 627,000 785,000 A158,000
z 439,000
Al 188,000




A= sYII=dH FA sEL
Hu: g @I & X4
Rl sEEEE =2 (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
02 BJ|2 S0 2 S A A 627,000 785,000 £158,000
OJ=dEHExY 627,000,000 *14] 627,000
= 439,000
Al 188,000
NEEte] sE2d A 130,000 90,000 40,000
= 65,000
= 13,000
Al 52,000
307 glztol & 130,000 90,000 40,000
= 65,000
= 13,000
Al 52,000
02 Rt E A E X 130,000 90,000 40,000
OXlgite sE2& A
130,000, 000& *100% 130,000
= 65,000
== 13,000
Al 52,000
SERFAEEE NS 360,000 90,000 270,000
= 180,000
Al 180,000
403 NRIHHSAE01H 360,000 90,000 270,000
= 180,000
Al 180,000
02 I 2 SOHE =22 E A 360,000 90,000 270,000
OsERFANLEE NS243
360,000,000 * 14 360,000
= 180,000
Al 180,000
=49 - & RE100 &EXIE 128,000 0 128,000
= 64,000
Al 64,000
403 XM SAHE0lH 128,000 0 128,000
= 64,000
Al 64,000
02 I 2 SOtHE =22 E A 128,000 0 128,000
Os2 - =& R0 X
128,000,000 14 128,000
= 64,000
Al 64,000
Aol S20t= 2= AL XA 20,000 0 20,000
= 10,000
Al 10,000
307 glztol ™ 20,000 0 20,000
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A= sYII=dH FA sEL
Hu: e @I & X4
ol METRD SEOE BRIHY (S9l:221)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
402 RIZHAH=0IH 27,000 0 27,000
= 13,500
Al 13,500
02 QI XHEAILEER(OIMTHE) 27,000 0 27,000
Osgas AEALD oY Hest
27,000, 0002 *100% 27,000
S 13,500
Al 13,500
eI 2 18,331,972 19,852,994 21,521,022
= 61,430
) 12,940,102
S 1,006,230
Al 4,324,210
AEH=ZAH ML 18,331,972 19,852,994 21,521,022
= 61,430
) 12,940,102
=S 1,006,230
Al 4,324,210
H HE =S SsAHAIZ 206,950 284,595 AT7,645
= 26,090
Al 180,860
402 QI+ X201 206,950 284,595 AT7,645
= 26,090
Al 180,860
03 QIZ+EF ALY 206,950 284,59 AT7,645
OBITIEH 4SS ST X2
86,950,000 * 14 86,950
S 26,090
Al 60,860
OHMEH 4&ES S X (AlHlI F=It)
120,000,000 14| 120,000
sHEM2E X 121,794 121,794 0
S 36,538
Al 85,256
307 gl2to| & 121,794 121,794 0
S 36,538
Al 85,256
06 28= 121,794 121,794 0
OszsMoi2e X
121,794,000 *14] 121,794
= 36,538
Al 85,256
sIHSEEs N& 43,306 43,306 0
= 12,992




A= sYII=dH SA o s34
HH: Ys=olFMA U
CHol: AlZmE2HmE 11 (cho @)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 30,314
307 2I2t01 & 43,306 43,306 0
S 12,992
Al 30,314
6 2= 43,306 43,306 0
OsJIIHESEEE AH
43,306,000 %14 43,306
== 12,992
Al 30,314
SCIHMTHHEE XA 90,550 90,550 0
S 27,165
Al 63,385
307 2I2t01 & 90,550 90,550 0
S 27,165
Al 63,385
06 28= 90,550 90,550 0
OsgletdTHi2s XI&
90,550,000 * 14| 90,550
== 27,165
Al 63,385
s28 HANs S8l AR 750,000 1,100,000 £.350,000
= 135,000
Al 615,000
301 LRtE2ES 750,000 1,100,000 £.350,000
S 135,000
Al 615,000
“IIEEd= 750,000 1,100,000 A350,000
OsY8 MR 7Yl X8
1502 +3,000,000 ¢ 450,000
= 135,000
Al 315,000
O=2g eNS 726 X (Al IH2)
1003 3,000,000 £ 300,000
ZEAEUE HEE X 96,000 112,340 216,340
S 28,800
Al 67,200
402 RIZEAHZ01H 96,000 112,340 216,340
= 28,800
Al 67,200
03 2IZHAEAIZH] 96,000 112,340 216,340
OLXEHEHE AL X
96,000,000 *14] 96,000
& 28,800
Al 67,200




A= s8JlsdH FA sEL
3 YSsUAEe U3
ool AlzRte e 1D (cho @)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
EEr NN EST= NS 11,900 11,900 0
= 3,570
Al 8,330
402 RIZtAH=01H 11,900 11,900 0
S 3,570
Al 8,330
03 QI+ EF ALY 11,900 11,900 0
OB MES £H
11,900,000 * 14| 11,900
= 3,570
Al 8,330
WZXH HEEX 54 X 140,000 19,250 120,750
< 42,000
Al 98,000
402 212+ X201 140,000 19,250 120,750
S 42,000
Al 98,000
02 QI XHEAILEER(0IMTHE) 140,000 19,250 120,750
OWAX HSSLX B4 X
280,000, 000 #50% 140,000
= 42,000
Al 98,000
selAEsIIA X 22,250 21,125 1,125
402 RIZHAH=0IH 22,250 21,125 1,125
01 QIZIXHE AL 2R (XHHITHE) 22,250 21,125 1,125
OosgE227 N 1,100, 0002 *10CH*50% 5,500
OB LZOEI| L SLETYI| X
3,000,000 *5CH*50% 7,500
Odlga=l| K& 1,500, 0002 *5LH*50f% 3,750
OZEME0| X 2,200,000 *5CH*50% 5,500
sIHSHEXIFHAE 11,850 18,000 26,150
= 6,000
=S 2,700
Al 3,150
206 M=Hl 11,850 18,000 26,150
= 6,000
S 2,700
Al 3,150
01 THZ=HI 11,850 18,000 26,150
OsINHSEEX S
11,850,000 » 14 11,850
= 6,000
S 2,700
Al 3,150




A= s8JlsdH FA sEL
3 YSsUAEe U3
ool AlzRte e 1D (cho @)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
H S2AIEEH X2 27,550 2,550 25,000
= 8,265
Al 19,285
402 RIZtAH=01H 27,550 2,550 25,000
S 8,265
Al 19,285
02 QI XHEAILEER(0IMTHE) 27,550 2,550 25,000
OoH 2280 X2
1,800, 0002 *1CH*50% 900
=S 270
Al 630
OB SR0157| X&
3,300,000 *1CH*50% 1,650
= 495
Al 1,186
Ot 82 ALY T
50,000,000 »50% 25,000
= 7,500
Al 17,500
B RX2lE didoteA K 23,750 14,250 9,500
< 6,375
Al 17,375
402 RI2+XH=201A 23,750 14,250 9,500
S 6,375
Al 17,375
02 QI XHEAILEER(0IMTHE) 23,750 14,250 9,500
Ol RAt2I8 HidsteAa &
42,500,000 x50% 21,250
= 6.375
Al 14,875
OH ZXI2lZ HILaIRA X (AHI FI1)
2,500,000 *100% 2,500
1E=sg0 =&l XA 245,700 262,500 216,800
S 56,700
Al 189,000
301 LEtE2 N = 245,700 262,500 216,800
== 56,700
Al 189,000
14 JIEt24 =3 245,700 262,500 216,800
OLldsgel s&ed X2
189,000,000 14| 189,000
= 56,700
Al 132,300
On8=Yel s&YLl X (ALl FIHE)
56,700,000 * 14 56,700




A= s8JlsdH FA sEL
3 YSsUAEe U3
chel: AlReHme FD (cie] g
AR RA - B GSI(E) - MIRAE - B Ol &t = HIDE
2R AHIEE XE 20,250 34,450 214,200
= 6,075
Al 14,175
307 glztol ™ 20,250 34,450 214,200
S 6,075
Al 14,175
02 QItF A E X 20,250 34,450 214,200
OZ M AHISTXH (ZH, ALISTHAL
) 40,500,000 #50% 20,250
= 6,075
Al 14,175
ZEN HEFAHIH XHHXI 3,300 30,000 226,700
< 990
Al 2,310
301 LetENES 3,300 30,000 226,700
S 990
Al 2,310
14 IEt2d=3 3,300 30,000 226,700
OZ & HFAHIH XX
3,300,000 *14] 3,300
= 990
Al 2,310
AMRNE & JIE018 25 50,000 100,000 A50,000
S 15,000
Al 35,000
402 212+ X201 50,000 100,000 250,000
= 15,000
Al 35,000
02 QI TH2AIE EE(OIMTHE) 50,000 100,000 A50,000
OMIIEE AlE X 100,000, 000& *50% 50,000
S 15,000
Al 35,000
M =2AHXI| XE 12,000 12,000 0
= 3,600
Al 8,400
402 RIZHAH=0IH 12,000 12,000 0
< 3,600
Al 8,400
02 RIZEXHZAIL E X (OI&THE) 12,000 12,000 0
OHeld 52420 NE
24,000,000& *50% 12,000
S 3,600
Al 8,400
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gt SO0A AMatetd 1,500 300 1,200
S 300
Al 1,200
402 RI2tXH=01A 1,500 300 1,200
S 300
Al 1,200
03 2IZHAEAIZHI 1,500 300 1,200
OSSO0 daretEM It X2
20,000 *1505+50% 1,500
= 300




d= sYII=dH A SaHt
mH: AR 33
TRl AR 84 (e &2l
AR RA - B GSI(E) - MIRAE - B Ol &t = HIDE
| Al 1,200
4@ AR |4 X2AL 20,000 20,000
402 RIZERHZ01H 20,000 20,000
01 QIZEXH2 AL 22 (X THE) 20,000 20,000
O=4 A2 2+ & 3l - I 7
2 20,000,000 *2JH 2=x50f% 20,000
FitE otdge 2| 2,140,660 3,128,894 £.088,234
= 668,150
) 93,307
S 272,333
Al 1,106,870
HEHEY HEES NI 124,500 159,110 234,610
201 2gt24| 15,900 20,810 24,910
01 AtR2t2/H] 12,900 16,610 23,710
OJ=dgd EE2g ustl
3,000,000 * 14 3,000
OI=L SN 22l = X
600,000 *62| 3,600
OII=Es=8 3,000,000 *14 3,000
OJI=dSE =3l 2XE
660,000 52 3,300
02 35224l 3,000 4,200 21,200
OJIE28 dHAS8 S22 ¥ 29
all 250,000+ 122 3,000
206 M=l 57,400 64,400 27,000
01 =4l 57,400 64,400 7,000
OJISEIEA (eSS 10,0002 *350& 3,500
O8te, R4 otZ8J| 78 & WSS
20,0003 #4204 8,400
OHXl £A24EE A3
20,0002 *320& 6,400
O, & 378 LSS
60,0003 *150& 9,000
Oz SMHF & A=I] Xl
15,0003 x7002 10,500
OttEI| Roli7& FXl
10,0002 660 6,600
ON=dGELY 21gAE (2, Had, HAl
&) 3,000,000&*25 6,000
OgtedEd Egss 20,0002 200 4,000
OJtsdsgs 495 5,000& 600 3,000
301 EtE N = 51,200 73,900 222,700
11 eAAEIXIZES 1,200 1,200 0
O8=2 Exu=F 150,000 +4 H+23| 1,200
14 IE243 50,000 72,700 222,700




sZ0I=dH FA O FHek
yzas2AT U3
SUE YA e (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
O KLBE Azt
1,000&%10,0005 10,000
OF NS olgehal ESH
5,0002 +8,000= 40,000
Se2lehd ZELAAN 49,820 82,620 A32,800
201 et2SH| 29,820 52,620 A22,800
01 A2/l 10,700 13,500 22,800
Ogaet =2t 80,0003 250K 2~ 2,000
Ogdeeld 2Exd 224 =5 7Y
2,500,000 14| 2,500
OXNSIBA =52 50,0002 *4CH 200
OSAMLSHAl 7182
3,000&*2,000= 6,000
02 35234l 19,120 39,120 220,000
OXS XAl 100, 0002 =4CH 400
OB =1t e FES
90,0003 *4CH 23] 720
OXExt 288 500,000 4CH 2,000
ORI L HAl BH| B
500,000 =4CH 2,000
OJtEgenie +4 U S0
3,000,000 *4CH 12,000
OEYEIMTASS ALhAS B - 2
= 2,000,000 %14 2,000
206 M= Hl 20,000 30,000 10,000
01 =8I 20,000 30,000 210,000
OS&II=HAYE Mel(MelMz, 45, Hal
S) 20,000,000& * 14 20,000
THS LA XIEA 174,960 174,960
402 RIZtAH=01H 174,960 174,960
03 QIZ+EF ALY 174,960 174,960
OF MG olgeaal X2 (4, HAl)
174,960,000 +14] 174,960
STEAF2YA 2N 2,800 53,700 £50,900
201 2Bt2SH| 1,000 2,500 41,500
01 A2/l 1,000 2,500 21,500
O=8LE A 222
1,000,000 14| 1,000
202 Ot 1,800 2,200 2400
01 SLHoIH 1,800 2,200 2400
O=sLS oA gRFA0
1,800,000 %14 1,800
FihsIt =338 At 22,200 24,200 22,000
206 M=Hl 18,000 20,000 A2,000
01 THZ=HI 18,000 20,000 A2,000




d= sYII=dH A R
M 3EELZY s
CHel: S4AE rEgrd 2| (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
O=gdlg «+57¢ 18,000,000& » 14 18,000
301 LRtENES 4,200 4,200
14 IEt2d3 4,200 4,200
O=3lg SH SN 2224
140,000 x 152 *2H 4,200
tEge =X 23| 4,000 7,000 £A3,000
202 01t 4,000 7,000 £A3,000
01 SLHOIH 4,000 7,000 £3,000
OJtE2g g2 F2A0d
20,0002 *3&*508] 3,000
ON=LAYZURRA(S2A) 0]
20,0003 x 1 +503] 1,000
SsENE =29 168,040 157,560 480
2l 79,020
= 15,804
Al 63,216
402 RIZtAH=01H 158,040 157,560 480
) 79,020
= 15,804
Al 63,216
03 2IZHAEAIZHI 168,040 157,560 480
O=sLHHES 158,040,000 14 168,040
) 79,020
= 15,804
Al 63,216
tsgAtSIa(0EgdE S X 481,782 756,524 A274,742
= 272,171
= 49,088
Al 160,523
201 eS| 15,000 0 15,000
= 7,500
S 2,250
Al 5,250
03 Ar2SHI 15,000 0 15,000
OJt=geitaed 15,000,000 * 14| 15,000
= 7,500
S 2,250
Al 5,250
206 M=Hl 287,619 513,386 A225,767
= 176,004
S 25,077
Al 86,538
01 THZHI 287,619 513,386 A225,767




A= sYII=dH SA - Fo
35 BEELZH 23
CHel: S4AE rEgrd 2| (9 &)
. 2A - BH - GA(SH) - MSAY - BES Ol &t = inE==l
OJ=s(24) 232,519,000 * 14 232,519
= 148,454
= 16,812
Al 67,253
OHEALSAE, SHEL: 2EE 2=AS
2 YHEE 5 7Y 55,100,000 14 55,100
= 27,550
= 8,265
Al 19,285
301 eetE N = 63,655 85,498 221,843
= 30,913
= 7,710
Al 25,032
14 JEt24d=2 63,655 85,498 221,843
OFLAEESIE PSSElz X3
9,900 *290CH*127H 2 +50% 17,226
= 8,613
S 2,584
Al 6,029
OFAt2SEIE GPS S| SAl J2SSH
A = 60,0002 »100CH 6,000
= 3,000
= 900
Al 2,100
O4 Szl - Zay My
15,0002 *1,5005 22,500
= 6,750
== 3,150
Al 12,600
OOS2ZAHS DI7I0Le Amy|
8,964,500& 23 17,929
= 12,550
== 1,076
Al 4,303
307 gl2tol & 115,508 157,640 N42,132
= 57,754
== 14,051
Al 43,703
02 2IZHB A E X 65,508 107,640 242,132
OMDHAIX 2 109, 180, 000& *60% 65,508
= 32,754
= 6,551
Al 26,203
05 BItRIE =3 50,000 50,000 0




=R E=Rll=] FA O FHek
mau2H U3
ohE e 2l (ool &)
CRA BB GRS - NIRAE - BES Ol &t = HIDE
OOISSHZEA 21 4 2AAS Fiety|
50,000,000 14 50,000
= 25,000
== 7,500
Al 17,500
NS X 323,749 481,951 A158,202
= 195,979
= 30,204
Al 97,566
206 M=Hl 63,749 9,211 231,462
= 36,179
=S 5,514
Al 22,056
01 THZHI 63,749 9,211 A31,462
O4 M 2l 1,700&*7,0005 11,900
= 8,330
S 714
Al 2,85
OHA XS Hal 1,700 5005 850
= 59%
S 51
Al 204
Oga FHS 2l 1,700&*4,5005 7,650
= 5,3%
S 459
Al 1,836
OF MY ol AEASSHK
3302 %130,0005 42,900
= 21,450
S 4,290
Al 17,160
Oxg=sg 449,000 *14] 449
= 449
301 LEtE N = 102,000 134,240 232,240
= 49,200
= 15,210
Al 37,590
14 JIEt2a=3 102,000 134,240 232,240
Ox NS HAES Al
6,000&+10,000%= 60,000
= 30,000
= 9,000
Al 21,000




d= sYII=dH A R
M 3EELZY s
BHel: SME e e (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Og4 A HAPE Al=t]
11,0002 %3,0005 33,000
= 16,500
S 4,950
Al 11,550
O4 P HEH(HYS)
10,0002 +9005 9,000
= 2,700
= 1,260
Al 5,040
402 212+ X201 158,000 252,500 204,500
= 110,600
= 9,480
Al 37,920
03 2IZHAEAIZHI 158,000 252,500 294,500
O FHS #HA(HYs)
1,900 %10,0005+50% 9,500
= 6,650
== 570
Al 2,280
OHA FHS Hal(HYs)
1,8008 %165, 0005*50% 148,500
= 103,950
= 8,910
Al 35,640
IENEYE 349 E42d NH 94,829 94,829 0
S 24,849
Al 69,980
101 ©12A4H| 94,829 94,829 0
S 24,849
Al 69,980
M IRtHMZZ2S e 94,829 94,829 0
O=xgd g9 223 X2
2,070,725 +4E =104 = 82,829
& 24,849
Al 57,980
OJ=rdgd 292X d B85 JI22(Al
HIZ=It) 3,000,000 x4 12,000
EPShbatS = 250,000 250,000 0
= 200,000
= 25,000
Al 25,000
301 LRtEXES 250,000 250,000 0
= 200,000
= 25,000




A= sYII=dH FA O FHek
B HMENIBA U
CHel: S4AE rEgrd 2| (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 25,000
HIIEEd= 250,000 250,000 0
Odxe=d= & 2,500,000 1005 250,000
= 200,000
= 25,000
Al 25,000
=tz X 15,600 2,400 13,200
S 4,680
Al 10,920
301 LEetE N = 15,600 2,400 13,200
= 4,680
Al 10,920
14 JEt24d=2 15,600 2,400 13,200
OJtEdlz € HLES M=l
80, 0002 *3905*50% 15,600
= 4,680
Al 10,920
A MEsIH FHS ESAl=H X2 24,000 24,000 0
S 7,200
Al 16,800
301 LetE2 N = 24,000 24,000 0
= 7,200
Al 16,800
14 IIE2d= 24,000 24,000 0
O==2A S 85 Al=tl X
5,000& *4,8005 24,000
< 7,200
Al 16,800
S HEMEAL=AIE 22l 15,000 20,800 25,800
201 LBtESHI 15,000 20,800 25,800
01 AFR2t2|bl 5,000 4,800 200
OHEASAIE JITN 22| |X
2,000,000 *14] 2,000
OHELSAIE 221 E20AHI
200,000& * 12043 2,400
OHELSAE AMRES € 2258 7
100,000 +63 600
02 33248l 10,000 16,000 26,000
ONFA=AIE 2|
10,000,000 *14{ 10,000
N8, SHL g Al 2g X2 146,500 395,530 A249,030
= 43,950
Al 102,550
201 LBt=SH| 61,500 100,000 £.38,500




A= sYII=dH FA O FHek
3 ZEENAEE Us
CHel: S4AE rEgrd 2| (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
== 18,450
Al 43,050
01 At=2t2(Hl 21,500 60,000 £.38,500
OHEALSAE, SHxza, sgdxa 22l &
N 21,500,000 * 14 21,500
S 6,450
Al 15,050
2 33248l 40,000 40,000 0
ONBASAIE, EMZEL, SHE4 22|
40,000,000 * 14 40,000
== 12,000
Al 28,000
206 M=Hl 55,000 75,530 220,530
= 16,500
Al 38,500
01 THZHI 55,000 75,530 A20,530
ONBEASAIY, SHEL, SHE ASHE
X ge=2E S 7Y 55,000,0003 %14 55,000
= 16,500
Al 38,500
307 I2t01H 20,000 200,000 A180,000
= 6,000
Al 14,000
05 BItRIE =2 20,000 200,000 £.180,000
OSHZEL, SBEA 22 8% L SAAL
FEHI 0,000,000 *14] 20,000
S 6,000
Al 14,000
401 Al HIZ S THYI 10,000 20,000 10,000
= 3,000
Al 7,000
01 Al&d| 10,000 20,000 210,000
OSH=A, sZxA HIINME 2USEX S
10,000,000 *14] 10,000
< 3,000
Al 7,000
&2 =& X& 48,000 48,000 0
S 14,400
Al 33,600
301 LEtE NS 48,000 48,000 0
= 14,400
Al 33,600
14 IIE2 e = 48,000 48,000 0




A= sYII=dH FA O FHek
B HMENIBA U
BHel: SME e e (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OB%2IN =5 X2
1,000,000 x4&x 1201 2 48,000
= 14,400
Al 33,600
22 NSt HESZH A& 14,000 14,000 0
= 4,200
Al 9,800
206 M=Hl 14,000 14,000 0
== 4,200
Al 9,800
01 MH=HI 14,000 14,000 0
Ox=8 HAESZH XA
10,0002 *1,400 14,000
= 4,200
Al 9,800
As0t 2g2e| X2 4,070 4,070 0
= 1,221
Al 2,849
206 M=Hl 4,070 4,070 0
= 1,221
Al 2,849
01 T2t 4,070 4,070 0
OFA S oyl X
23,1002 %1005 2,310
= 693
Al 1,617
OS0HA €AtE ol 23 E 2
21,0003 405 840
= 252
Al 588
OSSO0 2AtE HASZM A&
11,5002 x805 920
= 276
Al 644
HSEE HTAIAE 25 500 2,000 21,500
S 150
Al 350
206 M=Hl 500 2,000 A1,500
=S 150
Al 350
01 HZHI 500 2,000 21,500
& 229 WX 10&*50,0004= 500
== 150
Al 350




A= sYII=dH FA O FHek
B HMENIBA U
CHel: S4AE rEgrd 2| (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
IIEdZE 2dsI Ul & A5 o X2 20,410 0 20,410
2l 14,287
= 1,837
Al 4,286
301 LetE2NHS 20,410 0 20,410
Il 14,287
S 1,837
Al 4,286
4IIE2d= 20,410 0 20,410
OYESIF ASOHETIS
20,410,000 *14{ 20,410
) 14,287
S 1,837
Al 4,286
SIHE olgef X 128,400 256,800 128,400
= 38,500
Al 89,900
206 M=Hl 128,400 256,800 128,400
= 38,500
Al 89,900
01 MH=Hl 128,400 256,800 2128,400
OHXISEIHA X
3,000& 26,9005 80,700
S 24,200
Al 56,500
O X MAD s EIIS=ZHAl K&
2,0002%23,8505 47,700
& 14,300
Al 33,400
SOt HYSEE ASAIE - FHl X 2,500 2,500 0
S 750
Al 1,750
402 RIZEAH=01H 2,500 2,500 0
S 750
Al 1,750
02 QIZHHZ2 AL E X (01X THE) 2,500 2,500 0
O Ald €XIdl X
5,000,000& *17H 2=x50f% 2,500
S 750
Al 1,750
dESIH ASF ge2iel X 10,000 10,000 0
= 3,000
Al 7,000
402 RIZtAH=01H 10,000 10,000 0




A RA B C9I(S) - MSAY - BES Ol &t = HIDE
= 3,000
Al 7,000
02 2IZEAEAIEE & ) 10,000 10,000 0
OOtZ2ISIEHXIZ Y SHLAAIL S X2
10,000, 0002 *2IH 2 +50% 10,000
S 3,000
Al 7,000
A JIEEEEE HAME AME HFHl XH 25,000 0 25,000
= 7,500
Al 17,500
301 LetE2NS 25,000 0 25,000
== 7,500
Al 17,500
B2 d=s 25,000 0 25,000
OYESIH BY 2A HEH X2
25,0002 *1,000< 25,000
= 7,500
Al 17,500
ShsOF Bty 2,145,894 1,807,246 338,648
= 100,000
) 267,272
= 368,312
Al 1,410,310
SAMAIE SZHA XA 80,000 110,000 £30,000
402 RIZHAH=0IH 80,000 110,000 £A30,000
01 QI X2 AL B (XM ) 80,000 110,000 230,000
OFAAIE AlE( IPIPNN IOAL-!
100,000, 00024 +50% 50,000
OBAKIZ HE24
12,000, 0002 *57H 2 +50% 30,000
ANs8 AL & 30,000 70,000 £40,000
= 9,000
Al 21,000
402 RIZHAHZ01H 30,000 70,000 £40,000
= 9,000
Al 21,000
02 QIZHHEAIH 2 X (01X THE) 30,000 70,000 240,000
ONISE SLHA
60,000,000 *50% 30,000
S 9,000
Al 21,000
Ssitg FFerd X 13,240 22,550 A9,310
= 3,972
Al 9,268




d= sYII=dH A R
M 3EELZY s
el SMsIF BFeHE EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
307 gelztold 13,240 22,550 A9,310
= 3,972
Al 9,268
02 2IHBSAIEE & 13,240 22,550 A9,310
Ollsy AN N2
40,0002 *4105*50% 8,200
S 2,460
Al 5,740
OSSE - A K& 34,0002 * 1205 +50% 2,040
== 612
Al 1,428
OMAZ ZAT X2
10, 000 +600kg*50% 3,000
S 900
Al 2,100
HsilE XY ALY 8,400 12,000 3,600
307 I2t01H 8,400 12,000 43,600
02 QI B A E X 8,400 12,000 £3,600
OnsH X T T
40, 0002 #4205 *50% 8,400
BH(F) - {2 AESIH Azl X 250,000 300,000 250,000
402 212+ X201 250,000 300,000 250,000
03 2IZHAAEIAIZHI 250,000 300,000 £A50,000
OBHK) - 7 AMESIH AR S 72 28
X 16,0002 %62, 500 L *25% 250,000
SMASAME W=l X 16,000 20,000 £4,000
201 et S| 3,000 5,000 A2,000
01 AtR2t2/H] 3,000 5,000 A2,000
O, 2= A & 28 =25 S +
= 3,000,000 * 14! 3,000
206 M=Hl 13,000 15,000 22,000
01 H=HI 13,000 165,000 22,000
OZAtz THEH & s4t2@ DI S 72
13,000,000 * 14 13,000
FotsIH FEHERA 2EEH N 3,000 6,000 23,000
202 4t 3,000 6,000 23,000
01 2ot 3.000 6,000 £3,000
OZAlsTl BYAY HLETYY|
20,0003 x38+503 3,000
LEE TR(EEEMZ) 32 X 160,000 200,000 £40,000
402 RIZHAH=0IH 160,000 200,000 £40,000
03 2IZHAEAIZHI 160,000 200,000 240,000
OMR tHEtAte &8l 2% A&
10,0002 %80, 0002 *20% 160,000




A= sYII=dH FA O FHek
B HMENFBA U
el SMsIF BFeHE EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
SueLRaAXH 304,750 360,000 A55,250
2l 182,850
=S 24,380
Al 97,520
301 LetE2NHS 304,750 360,000 A55,250
) 182,850
S 24,380
Al 97,520
4IIE2d= 304,750 360,000 A55,250
ORa2834 X8
5302 *2, 300 x250 304,750
) 182,850
S 24,380
Al 97,520
SAS0IFHMALS 17,280 17,280 0
) 8,640
S 1,728
Al 6,912
402 212t X=201™ 17,280 17,280 0
) 8,640
= 1,728
Al 6,912
03 QIZ+EF A 17,280 17,280 0
O4 FESEH(01522]) XA
9,6002+1,8005 17,280
2l 8,640
= 1,728
Al 6,912
=4s0F =200 X 16,720 31,440 215,720
S 4,716
Al 11,004
307 2I2t01H 16,720 31,440 215,720
= 4,716
Al 11,004
02 BB A E X 15,720 31,440 215,720
O=F4tsI =201 215 X2
2,620, 0002 x2Z*6IH 2 +50% 16,720
= 4,716
Al 11,004
SAU=HHY AL Hd XA 2,000 4,000 22,000
S 600
Al 1,400
402 212t X+=20(™ 2,000 4,000 A2,000
= 600




A= sYII=dH FA O FHek
M 3EELZY s
el SMsIF BFeHE EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 1,400
02 QI XHEAILEER(0IMTHE) 2,000 4,000 A2,000
OSMUSEMNS A IR X
4,000,000 »50% 2,000
= 600
Al 1,400
SNE 2] XM 10,500 10,500
402 RIZHAH=0IH 10,500 10,500
01 QIZIXHE AL 2R (RHHITHE) 10,500 10,500
OsdtE /I N&
21,000,000& *50% 10,500
SOt & HE HACP AIE 10,000 44,700 234,700
S 2,8%
Al 7,105
402 RIZEAHZ01H 10,000 33,500 A23,500
=S 2,8%
Al 7,105
02 QIZHXHEAIL 2 (01X THE) 10,000 33,500 £23,500
OHACCP Al& - ZHI & XI(ESE)
20,000, 000& *50% 10,000
= 2,89
Al 7,106
AFEIXCY Ald HH XIE 200,000 0 200,000
S 100,000
Al 100,000
402 RIZEAHZ01H 200,000 0 200,000
= 100,000
Al 100,000
02 QIZIXHEAIL 2 (01X THE) 200,000 0 200,000
OAMSEEXCIYE £H| - 4l X
400,000, 000& *50% 200,000
== 100,000
Al 100,000
e SEEE Il M 70,000 82,600 212,600
S 21,000
Al 49,000
307 2I2t01H 70,000 82,600 212,600
= 21,000
Al 49,000
02 QI B A E X 70,000 82,600 212,600
ORES SUC N
70,000,000& *100% 70,000
== 21,000
Al 49,000




d= sYII=dH A R
M 3EELZY s
Chel: Saks)E Z2Hers EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
IAE Mok 2 SEE ZHl RAZAY 100,000 100,000
402 QI+ X201 100,000 100,000
01 QIZIXHEAIL 2R (RHHITHE) 100,000 100,000
OZAId4H0IZ J1H - ZHIXIA
200,000, 000& *50% 100,000
NS HAE ALl HZEH XIS 206,551 202,500 4,051
2l 68,850
= 34,425
Al 103,276
307 glzto| & 206,551 202,500 4,051
) 68,850
== 34,425
Al 103,276
02 2IZHB A E X 206,551 202,500 4,051
OAtelXl Mz=Hl X2
229,501,000 *90% 206,551
) 68,850
== 34,425
Al 103,276
INSHLAE SH2YH XIS 18,489 22,176 23,687
) 6,932
= 3,467
Al 8,090
402 RIZHAH=0IH 18,489 0 18,489
Jl 6,932
= 3,467
Al 8,090
03 2IZHAEAIZH] 18,489 0 18,489
OXAtedatE S22l A&
36,978,000 *50% 18,489
) 6,932
= 3,467
Al 8,090
AEHE X 7L X 33,264 0 33,264
= 9,979
Al 23,285
402 QI+ X201 33,264 0 33,264
= 9.979
Al 23,285
03 QIZ+EF ALY 33,264 0 33,264
OMgZ=E STl N2
462,000 *144ha*50% 33,264
= 9,979
Al 23,285




A= sYII=dH FA O FHek
B HMENFBA U
el SMsIF BFeHE EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
FEA ZAlE MatEd] XA 280,000 0 280,000
= 140,000
Al 140,000
402 RIZtAH=01H 280,000 0 280,000
S 140,000
Al 140,000
02 QI XHEAILEER(0IMTHE) 280,000 0 280,000
OREX 88 ZAtE MAEY| X2
400,000, 000& 7% 280,000
= 140,000
Al 140,000
SH MEE= THEHEX =d 60,000 80,000 A20,000
301 EtE N = 60,000 80,000 £20,000
YIE2 = 60,000 80,000 220,000
OZAtz THEHEX I &= XIS
60,000,000 * 14 60,000
FENE 8 TAE HSE = 56,700 58,800 22,100
S 12,150
Al 44,550
307 2I2t01H 4,200 6,300 A2,100
= 900
Al 3,300
02 QI B SAIHE X 4,200 6,300 22,100
OFEXE ZAIZ ARl ME did X2
12,0002 *500=+70% 4,200
= 900
Al 3,300
402 QIZtAH=01H 52,500 52,500 0
S 11,250
Al 41,250
02 QIZHHZ2 AL E X (01X THE) 52,500 52,500 0
OMR MZZHl X2
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= 9,000
Al 33,000
OMR X==20101 XA
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3,000,000 *1CH 3,000
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Ogs(EE)=d NA(E8, 4x2)
80,000,000 x50% 40,000
st et X 40,000 40,000
307 glztol & 40,000 40,000
02 R E A E X 40,000 40,000
Ogzslt sz, 4g S N
80,000,000 *50% 40,000
JdREASY |4 71,500 41,765 29,735
S 21,450
Al 50,050
307 2IZt01H 4,500 12,525 A8,025
= 1,350
Al 3,150
02 IZHBMAIHE X 4,500 12,525 28,025
Odsa= 9,000, 0002 *50% 4,500
S 1,350
Al 3,150
402 RIZtAH=01H 67,000 29,240 37,760
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S 12,439
Al 42,877
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=S 12,439
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== 12,439
Al 29,048
OSEES - 22l 828 B S(AHIFI)
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OHIA JI2AH& & dAEH 84
150,000,000& 14| 150,000
HH2IAH|(Z4) 99,570 105,560 25,990
2l 15,945
= 3,189
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) 15,945
= 3,189
Al 49,212
IAE SE22E 1A 49,746 48,900 846
) 15,945
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= 3,189
Al 24,052
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OZXAlg S22 24005 2lAy|
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Jl 15,945
= 3,189
Al 12,756
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202 Ot 2,000 2,000
01 =LH0AH] 2,000 2,000
OZXAtg SEael 2R3 Kbl (AIHIFIH
20,0002 *12*1002] 2,000
M H=SRESS 4,560 4,560
M SRH(RIHA) 22X 2RSS S 4,560 4,560
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02 JIEtXE = 18,600 18,600
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Jl=2&H 31,224 38,060 6,836
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201 LBt=EH| 17,544 21,500 A3,9%
01 At=2t2[HI 17,544 21,500 23,956
OHIMEESSHI 300,000& * 12 3,600
O#F A2l Y ADFH
400,000& * 12 4,800
OJ|Et==EH| 3,000,000 %14 3,000
OJ|2dF+8 sS4l
8,000 8 +83]« 1204 6,144
202 Ot 10,080 12,960 22,880
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TEMNAELSE) 6,250,000 14] 6,250
S 1,875
Al 4,375
Holssts ML B olTet =E 320,000 0 320,000
== 160,000
Al 160,000
402 RIZHAH=0IH 320,000 0 320,000
S 160,000
Al 160,000
02 QI XHZ2AILEER(0IMTHE) 320,000 0 320,000
OA0ISAE OHEMAr U QITR} 2t
640,000,000 *50% 320,000
S 160,000
Al 160,000
DX M ESUH AIY 31,500 63,000 A31,500
307 2I2t01H 31,500 0 31,500
02 QI B A E X 31,500 0 31,500
OL™Xl THA =2EH Al™
45,000,000 *70% 31,500




[0l
L
OF
0J

80,900

25,000
25,000

25,000
1,334,500

dEc
Off 28

25,000
25,000
25,000
25,000

1,415,400

Off 428

i

251,950
221,990
941,460
37,000
20,000
20,000

H

25,000,000 *14{

=]
=

2|

e

ol

=
=)

HA|

OMas =524 1

RN - BB O9I(3) - HRAY - BaS

308 At

e

10,500
5,000
A5,000

5,500
2500
6,000
10,000
10,000

26,500
25,000
25,000
1,500
1,500
10,450
450
450
10,000
10,000
15,000
15,000
15,000
60,000
60,000
60,000

20,000
7,000
1,000
1,000
6,000
6,000

10,000

10,000

10,000

10,450

450
450

10,000

10,000

10,000

15,000

15,000

15,000

15,000

60,000

60,000

60,000

60,000

Al

20,000,000& *14|
100,000 %10
10,000,000 *14]
150,000& 3
30,000, 0002 *50%

40,000, 000& *3ha*50%

o
[uind

4)

=

t

=01

F

AFAHIX

OgadArdg=2 OHE Ald
OFTAIS S SEAY

01 M= Hl

14 D€t

01 Xkat

01 AFR2t2|HI
01 M= Hl

1

206 =4l
405 Xt
206 =4I
402




A= sYII=dH 2A 2SS
3N st=sdgd MIIsE2
Bl W=SH oA CEERE)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
bSOt 2EEZ SIIAXE 80,000 80,000
402 QI+ X201 80,000 80,000
01 QIZIXHEAIL 2R (RHHITHE) 80,000 80,000
Olt=sot &2 SIHXNE
20,000,000 «8CH*50% 80,000
HA 282l HPAE Al 32,000 32,000
402 21t XH=201A 32,000 32,000
01 R XEALER(KHHITHE) 32,000 32,000
OtiA 2824 NEAE Alg
20,000,000 *2JH 2=*8(f% 32,000
JIEHS (g SU(2U) US4 Al 84,000 80,000 4,000
402 RIZHAH=0IA 84,000 80,000 4,000
01 QIZIXHE AL 2R (XHHITHE) 84,000 80,000 4,000
OJI=ds g St(2t)2=+ 54 XA
60,000,000 *27H 2=x7(f% 84,000
Do BEEATEE D= A" 40,000 40,000
402 RIZERHZ01H 40,000 40,000
01 QI XEAI L ER(XHHITHE) 40,000 40,000
OXL BH=4THHH Jl=ga A"
50,000,000 »80% 40,000
II=HEHE =S4 A 47,500 47,500
402 RIZHAH=0IH 47,500 47,500
01 QI X2 AL B (XM ) 47,500 47,500
OJIZRHUE H=EFE At
9,500,000 *105+50% 47,500
=Jt&el golils e =€ 47,000 47,000 0
= 23,500
Al 23,500
101 I24H| 28,213 27,8% 317
= 14,106
Al 14,107
M JItHZZ2 TS 2 28,213 27,8% 317
O=Jt2c| doliEs LMe 2| 28,213
=JllEa 95,2003« 12 +200& 19,040
= 9,520
Al 9,520
oxFrd 95,2003 * 18 =40 3.808
= 1,904
Al 1,904
o A2t =g
17,8503 12 +8AI 2Hx 10 1,428
= 714
Al 714
cANtRERIIE 95,2003 9 857




A= sYII=dH 2A 2SS
B SASEISA AIIZEE
Bl W=SH oA CEERE)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
= 428
Al 429
cAESE= 25,132,800& *11.26% 2,830
= 1,415
Al 1,415
oEslE YRS T=y)
250,000 * 14 250
= 125
Al 125
201 LBt=EH| 8,787 9,104 2317
= 4,3%
Al 4,393
01 AtR2t2lH] 8,787 9.104 A317
OArez2l| 8.787
o2l HiHE YN SASE S
5,787,000 14] 5,787
= 2,8%
Al 2,893
oHHE YRoizEs DY
3,000,000 14| 3,000
= 1,500
Al 1,500
206 M=Hl 10,000 10,000 0
= 5,000
Al 5,000
IEEL 10,000 10,000 0
L] 10,000
o=JtEel HillE LML e
10,000,000 » 14 10,000
= 5,000
Al 5,000
sXE golls ZHbl 46,900 31,300 15,600
= 23,450
Al 23,450
206 M=Hl 46,900 31,300 15,600
= 23,450
Al 23,450
01 =8l 46,900 31,300 15,600
Olt=3tatd LH S|
26,400,000 *14] 26,400
= 13,200
Al 13,200
O=gdhis 2l 16,000,000 *14] 16,000
= 8,000




A= sYII=dH 2A 2SS
B SASEISA AIIZEE
Bl W=SH oA CEERE)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 8,000
OMAEME SHHlotH
4,500,000 *14] 4,500
= 2,250
Al 2,250
HIZ ot A S HHRtANY 52,250 61,750 29,500
= 13,200
Al 39,050
402 212+ X+=20(H 52,250 61,750 29,500
S 13,200
Al 39,080
02 QI AHEAILEER(0IETHE) 52,250 61,750 £9,500
OHIZBIRASUSIAIZE I
8,000,000 *11IH A +50% 44,000
= 13,200
Al 30,800
OHIZotRASHSAIE RI R (AIHIFIH)
1,500, 0002 * 1174 2 +50% 8,250
ot FYHM DA 25,000 12,500 12,500
S 7,500
Al 17,500
402 RIZEAHZ0IH 25,000 12,500 12,500
= 7,500
Al 17,500
02 QIZEXHEAIL 2 (01X THE) 25,000 12,500 12,500
Ot LS ISR
25,000, 000:& *2ha*50% 25,000
< 7,500
Al 17,500
YU Jlgtxd 34,300 49,000 214,700
S 10,290
Al 24,010
402 RI2tXH=201A 34,300 49,000 214,700
= 10,290
Al 24,010
02 QIZEXHE AL 2 (01X THE) 34,300 49,000 214,700
OESIHH JIBEE At
70,000,000 *0. 7hax70% 34,300
== 10,290
Al 24,010
Negas &5 JBRd(Hel, I19)(HEA) 364,000 364,000 0
S 182,000
Al 182,000
402 RI2t X201 364,000 364,000 0




A= sYII=dH 2A 2SS
B SASEISA AIIZEE
Bl W=SH oA CEERE)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
== 182,000
Al 182,000
02 QIR 2 AL 2 (0IE ) 364,000 364,000 0
OXISHSE Hel.2I9 B3 &4
45,500,000 * 1074 A*80f% 364,000
S 182,000
Al 182,000
UHHSES 28 U=+ 2CIZS SN =24 AE 200,000 0 200,000
= 100,000
Al 100,000
402 RIZEAHZ01H 200,000 0 200,000
= 100,000
Al 100,000
02 QI X2 AL EE(0IETHE) 200,000 0 200,000
OUNSE €8 U=+ 2SS Sl =
o Alg 40,000, 000& *5ha*100% 200,000
= 100,000
Al 100,000
SHESE SEA=S 2 U AT Jlz= Al 60,000 0 60,000
= 30,000
Al 30,000
402 RIZEAHZ01H 60,000 0 60,000
= 30,000
Al 30,000
02 RIZIXHEAIL 2 (01X THE) 60,000 0 60,000
OsItESE SEHE =8 e LATHK
60,000,000 *17H 2=%100% 60,000
= 30,000
Al 30,000
NESEE 22 AZTHHE 2 H=24= AlY 50,000 0 50,000
= 25,000
Al 25,000
402 RIZEAHZ01H 50,000 0 50,000
= 25,000
Al 25,000
02 QIZIXHE AL 2 (01X THE) 50,000 0 50,000
OXSEE 22 ALTHHH HE HE 2t Al
=) 50,000, 000& * hax100% 50,000
= 25,000
Al 25,000
JI=ds dMA HSE 28 Ol EU U= =& A" 100,000 0 100,000
= 50,000
Al 50,000
402 RIZHAHZ01H 100,000 0 100,000




sZ0I=dH 2A 2SS
sttEsSdgd MlsEs
Y==S& ot Hl L))
CRA BB GRS - NIRAE - BES Ol &t = HIDE
= 50,000
Al 50,000
02 QIZIXHEAIH 2 X (01X THE) 100,000 100,000
ool W T A
100,000,000& * 1hax100% 100,000
= 50,000
Al 50,000
e gois o - g 28 NF 30,000 30,000
= 9,000
Al 21,000
101 QIAH| 28,213 28,213
= 8,464
Al 19,749
M IItHZZ2NSE 28,213 28,213
OFlI== 95,2003 x12+200& 19,040
= 5,712
Al 13,328
OFF=¢ 95, 2002+ 140! 3,808
S 1,142
Al 2,666
OAlZt2A+=& 17,8502« 12 +8A| 24+ 10 1,428
S 429
Al 999
OgirsRzI+d 95,2002 +9 857
S 257
Al 600
odtEE= 25,132,800& %11.26% 2,830
= 849
Al 1,981
Ogais LM 1= 250,000 14| 250
== 75
Al 175
206 MH=H| 1,787 1,787
S 536
Al 1,251
01 IHZ=HI 1,787 1,787
Ogais MM X W7
1,787,000 *14] 1,787
= 536
Al 1,251
sletdsgole xd 3,204,597 3,221,613 217,016
= 257,384
= 184,615




A= sYII=dH 2A 2SS
3N st=Sdgd MIIsE2
chel: FEdsel X4 CERED
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 2,762,598
et dsgadlT 2,950 5,450 22,500
201 2gt2d| 1,950 3,450 21,500
01 AtR2t2/H] 1,950 3,450 A1,500
OAtR 22| 1,950
ozlEd dollE ol U=H
150,000 39 450
o8RO, EEE S 1,500,000 14| 1,500
301 LetE2ES 1,000 2,000 21,000
11 BAEEIXES 1,000 2,000 A1,000
Ozlegdsdlls s ol
100,000& 10 1,000
S MEBHEX Solls SALM Al 36,800 36,800
307 IZt01H 36,800 36,800
02 QI B A E X 36,800 36,800
Ozletd WA Solis PALM AlS
,000,0002 *80% 36,800
cletZH THHHEEX] elsH] X3 52,000 52,000
307 glztol ™ 52,000 52,000
02 QI B A E X 52,000 52,000
OZ&FHAl sl N
65,000,000 *80% 52,000
et MACT &4 220,000 240,000 A20,000
402 RIZEAHZ01H 220,000 240,000 A20,000
01 QIZIXHE AL 2 (XHHITHE) 220,000 240,000 220,000
OZletdy 4ot &4
244,444 0002 *90% 220,000
a2 dSFHX] £d 120,000 120,000
402 212+ X201 120,000 120,000
01 QI XS AISE R (KM ) 120,000 120,000
Od=+EEs7S BB =4
133,333,000 *90f% 120,000
A=K SS(AlHI) 10,000 11,970 41,970
402 RIZEAHZ01H 10,000 11,970 21,970
01 QIZIXH2 A S (XHHITHE) 10,000 11,970 41,970
Ozt dsiH 32 20,000,000 »50% 10,000
et satE ASETH| 12,180 16,800 24,620
= 3,654
Al 8,526
301 LetENHS 12,180 16,800 24,620
= 3,654
Al 8,526
14 JEt2d=2 12,180 16,800 £4,620




A= sYII=dH 2A 2SS
By SASEISA AIIZEE
ohel: MASLIIY X4 (2ol me)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OZBASLE E=AH|
20,300,000 *60% 12,180
= 3,654
Al 8,526
sEdsHNS3 1,981 6,675 A4,694
= 594
Al 1,387
402 RIZEAHE01H 1,981 6.675 A4,694
== 594
Al 1,387
02 QIZHXHZ AL 2 (01X THE) 1,981 6.675 24,694
OB sAHE= 3,962, 0002 *50% 1,981
< 594
Al 1,387
IS K& 15,123 13,119 2,004
= 6,099
== 2,707
Al 6,317
402 212+ X201 15,123 13,119 2,004
= 6,099
== 2,707
Al 6,317
03 2IZHAEAIZHI 15,123 13,119 2,004
ORI =LA 30,246,000 *50% 15,123
= 6,099
= 2,707
Al 6,317
gdletd olssdts 2 X3 6,000 6,000 0
S 1,800
Al 4,200
402 212+ X201 6,000 6,000 0
= 1,800
Al 4,200
02 QIZHXHZ2 AL 2 X (01X THE) 6,000 6,000 0
Olatd oIEsstts ZHEMAIA
10,000, 0002 *60% 6,000
= 1,800
Al 4,200
FIEHIZ SS(HEAIY) 2,287,738 2,187,738 100,000
S 109,485
Al 2,178,253
402 212+ X201 2,287,738 2,187,738 100,000
= 109,485




A= sYII=dH 2A 2SS
3N st=Sdgd MIIsE2
ol RBASYI(E XA (49 @)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 2,178,253
03 QI+ EF ALY 2,287,738 2,187,738 100,000
ORII2tlg 33 (M)
1,387,738,000& 1] 1,387,738
= 109,485
Al 1,278,253
ORIIZHIZ BS(AIBIEI
900,000,000 *14] 900,000
EAINSM X2 347,022 300,261 46,761
= 223,332
S 61,845
Al 61,845
402 RI2+XH201A 347,022 300,261 46,761
= 223,332
= 61,845
Al 61,845
03 2IZHAEAIZHI 347,022 300,261 46,761
O K& 347,022,000 *100% 347,022
= 223,332
= 61,845
Al 61,845
dletd s A ETI=H 27,953 45,000 217,047
= 27,953
301 LEtE2 N = 27,953 45,000 A17,047
= 27,953
14 JE2d=3 27,953 45,000 217,047
OXBASAXET |
27,953, 0002 *100% 27,953
= 27,953
fsof A HEH X2 13,600 13,450 150
= 4,080
Al 9,520
301 LREXES 13,600 13,450 150
S 4,080
Al 9,520
“IIEEd= 13,600 13,450 150
Ofs% XL HeEM N
13,600, 0002 *100% 13,600
= 4,080
Al 9,520
dletZad s dE)|ls E2HS 2,250 3,150 2900
= 450
Al 1,800
201 Zet=gH| 2,250 3,150 2900




A= sYII=dH 2A 2SS
3N st=Sdgd MIIsE2
ol RBASYI(E XA (49 @)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
S 450
Al 1,800
01 At=2t2(Hl 2,250 3,150 2900
OZEgded sl d2)/s E2M3
2,250,000 *100% 2,250
S 450
Al 1,800
GMOI A= REOFIH D] K& 49,000 49,000
402 RIZEAHZ0IH 49,000 49,000
01 QIZIXH2 AL S (XHHITHE) 49,000 49,000
OGMD| &= RIHHED| X1
70,000,000 7% 49,000
SHEERI I=ES 421,004 418,825 2,179
= 12,000
) 4,705
Al 404,29
flezdsy 2Aeld 22 27,476 33,000 15,524
101 QIAHI 8,476 0 8,476
M JItHZZ2 RS2 8,476 0 8,476
OzlstZsgaAcia 24 22| 8,476
S 95,2002 x 1 +66 6,284
oxgad 95,2002 x1&*12& 1,143
SRLPNESS 95,2003 1 +2& 191
o NEMHEERES
7,616,0003+12*11.26% 858
201 Zet=EH| 14,000 18,000 24,000
01 A2t2lHl 4,000 5,000 21,000
OANEEAN AZE & MRPES
4,000,000 14] 4,000
2 33248l 10,000 13,000 £A3,000
O=323l 10,000
cHHXl AldF7XIY
1,000,000 14| 1,000
cAgE4 FUlFAlYl
5,000,000 *14] 5,000
oS AE24 JtAH] 4,000,000 *14] 4,000
206 M=Hl 5,000 8,000 £A3,000
01 =8I 5,000 8,000 £3,000
OAlZt & =XtF 5,000,000 *14] 5,000
Sgdds =24 20,000 26,000 £6,000
= 5,000
Al 15,000
101 212AH| 20,000 0 20,000
= 5,000




A= SedISUE SN IR
3N sa=Sdgd MIIsE2
Hel: sdUEEslIeEs EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 15,000
M IRtMZZ S 2= 20,000 0 20,000
Osaddd 29 2y 20,000
=JllEa 95,2003 1 »154 14,661
= 3,665
Al 10,996
oxgrd 95,2002 x1&H 29 2,761
= 690
Al 2,071
o AR =& 95,2002 x1&+6& 572
= 143
Al 429
o NEMHEERES
17,992,800 x 12 11.145% 2,006
= 502
Al 1,504
cletdsatae|d 24 10,000 10,000 0
= 2,500
Al 7,500
206 M=Hl 10,000 10,000 0
= 2,500
Al 7,500
01 =8I 10,000 10,000 0
OMZH| 10,000
=o0ldE X € 28 M=
10,000,000 » 14 10,000
= 2,500
Al 7,500
NEER Bk £5F 9,000 28,297 219,297
= 4,500
Al 4,500
201 2et2SH| 5,000 1,464 3,536
= 2,500
Al 2,500
01 At222[HI 5,000 1,464 3,536
OAtZ 22l 5,000
cMEA ADE S 5,000,000 *14! 5,000
2 2,500
Al 2,500
206 M=Hl 4,000 0 4,000
= 2,000
Al 2,000
01 =8I 4,000 0 4,000




AR =)l HIE S PIETE
Hu: SMNSBIEMN MIIEES
el SM2HRIIZES

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OM=Hl 4,000
cdgd 2 M2 S
4,000, 0002 *14! 4,000
- 2,000
Al 2,000
SAXEM EAZAH X 4,705 4,407 298
Il 4,705
206 H=H| 4,705 4,407 298
) 4,705
01 MHZHI 4,705 4,407 298
OSYUA=H ELH A
4,705,000 «14] 4,705
) 4,705
A0EE & ASXAHLA 23 13,000 16,000 £A3,000
201 LBt=EH| 5,000 7,000 A2,000
01 AlR2t2l8l 2,000 2,000 0
OADIEE % MEHY 2USE
2,000,000 14] 2,000
02 3324l 3,000 5,000 A2,000
OAE, 88l |A & 2=
3,000,000 *14] 3,000
206 M=Hl 5,000 6,000 A1,000
01 =8I 5,000 6,000 21,000
OAS & =X S 5,000,000 14| 5,000
405 THHFSH| 3,000 3,000
01 AL =S FSHI 3,000 3,000
OlI& & 3,000,000 14| 3,000
Old=o+a 24 210,700 135,320 75,380
201 LBtEEHI 30,700 35,000 24,300
01 AtR2t2/H] 3,700 5,000 41,300
Oz4+=g & 2925, U=y 3,700
oM 100,000 x4 &*33] 1,200
o2d =8 & U=l
2,500,000 14| 2,500
02 3324l 27,000 30,000 £A3,000
OZHISAHl 2 |F4 27,000
=0l4=SHHe Bl
17,000,000& * 14 17,000
o0ldEHY F=HI
10,000,000 *14] 10,000
206 M=l 95,000 100,320 25,320
01 THZHI 95,000 100,320 25,320
OMZHl 95,000




gllsdH 2M 1 IIsES
SESEEY MIsES
MESEI|IEES

S - EHB - G(S1) - HRAY - BES = RS2
cOlME i Mz 7
95,000,000& * 14! 95,000
405 Xt SHI 85,000 85,000
01 IR SEH S| 85,000 85,000
O0|MEuD] e 85,000,000 =14 85,000
=2 2Y 126,123 125,801 322
101 QI24b| 79,123 88,851 A9,728
M IIHZ2ENSES 79,123 88,851 A9,728
Os&=s3 29 12| 79,123
oJllE2a 95,2002 *3% *2002 57,120
oFst 95,200 3«3 *40 11,424
o X< 95,2003 39 2,571
cNEMTHEEREZ
71,114,000&%11.26% 8,008
201 LBr23H| 13,000 16,950 23,950
01 At22t2lt| 4,000 6,950 A2,950
OAtR2teld] 4,000
cuERY, £Z, U=l
4,000,000& * 14! 4,000
02 23224l 9,000 10,000 21,000
OAl4 ZHIRX, 2+, SF4I
900,000& *10= 9,000
206 M= 4l 10,000 15,000 25,000
01 THZ= Yl 10,000 15,000 A5,000
OMZ I 10,000
oplRES ABAE Y AIHE 22
10,000,000 14 10,000
401 AIEHIZL 201 24,000 24,000
01 AlEHI 24,000 24,000
oOtSUES AHINEIAIL O - B
24,000,000 3 14! 24,000
HY2AZHI(DI=E223) 91,010 105,390 214,380
Jl23&Hl 91,010 105,390 214,380
J|I23&l 91,010 105,390 214,380
201 LEt2 3| 47,130 43,940 3,190
01 AtR2t2lH] 17,480 21,840 24,360
OAtR2eldl 17,480
CHBAIREE 8,000,000 *14] 8,000
oc=E ¥ &dl Xz
1,800,000 * 14! 1,800
o) |2 RS A
8,000& x 16 +60! 7,680
02 222ZH| 29,650 22,100 7,550
O3223H| 29,650




A3 s)I=dd 2A 2SS
M HHE2AHHI(OIEE=SD)
Ehelr JI=23l (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
oA, 2 RAHl S
4,000,000 14] 4,000
o Xtg KX 600,000 <3CH+ 12 21,600
o XHS XHAl 300, 000 *3CH 900
oEIAMNERE= 200,000 *3CH 600
S3-==1= 850,000 +3CH 2,550
202 Ot 39,680 51,750 212,070
01 =LHOIH 39,680 51,750 212,070
O=UdAI 39,680
oJlsEa AR+ oHI(2U)
20,0008 16 7L+ 122 26,880
ollsEs AR+ obI(22)
160,000 * 16 +53] 12,800
203 HR=EHI 4,200 4,200
M FAEEERFAY 4,200 4,200
ORA2gYREE 350, 0002 122 4,200




